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wIE | o - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
<UL ayymy = & m m m m
1| 155 SESREA (1) AT K R +/- +/~ +/- +/-
¥ F vy = = m m m m
2| 1278{m A S (2) =T +/- +/- +/= +/-
wET 94 = & m m m m
3] 204|#AmH #L(2) PEAT S +/- +/~ +/- +/-
7tay JUh = & m m m m
4] 152fnBE  STFH(2) PN +/- +/= +/- +/-
IYEN Fayay = & m m m m
5| 497|mA KA B) FEIa L P = +/- +/= +/- +/-
=y b = & m m m m
6] 286|FHM  BEA(5) Pl N +/- +/- +/- +/-
ThA % 20% = = m m m m
7] 288 AR E (2) FET = +/- +/- +/- +/-
ta o4y ey = & m m m m
8] 467 AR (3) TR E +/- +/- +/- +/-
Thi= rAh = & m m m m
9] 1176l EAQ) LD +/- +/= +/- +/-
VR A = H m m m m
10 194 |FER #£(3) FIR L HEEE +/- +/- +/- +/-
¥ang vy = = m m m m
11| 1795]iE )5 R(3) —EH&E +/- +/- +/= +/-
The vavh = = m m m m
12| 513|HH BERK ) I 1L HH P +/- +/- +/- +/-
YYEh Ak ( = & m m m m
13] 5364 ILA  HEK(3) PN +/- +/- +/- +/-
Y vk = m m m m
14]  506]HJI HAK(2) FEIa L P = +/- +/= +/- +/-
¥ 7 Y = = m m m m
15  160|&H  #F W) AT K R +/- +/= +/= +/-
ISCAE =AY = & m m m m
16| 5440|F  HEYF JACEAST IT +/- +/~ +/- +/-
L vhz vany = & m m m m
17]  507|HAs  FARL(2) I 1L HH P +/- +/- +/- +/-
B <t = & m m m m
18] 5363|HH  HEA ) EESEPN +/- +/= +/= +/-
)77 N 94 = & m m m m
19] 6014|{ZjE  Skih oy +/- +/- +/- +/-
ISZASIEY) ] = & m m m m
20| 55880 RS Ise TC +/- +/- +/- +/-
Sy EEVAN = & m m m m
21| 287|HF {5 (5) Pl N +/- +/- +/- +/-




—f - BT ENRBk

= HEIRGIE (KR) 8m05 g FECIKEE) Fn 3 4 (2021) 5HITH 10:50 ¥ B 1
R R EL Bk (KH) Tm64 g PECEKEE) FRR304E (2018) 5H17H 10:50 ¥ W 2%
B pit
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
Y7 Eh thh = & m m m m
1] 590|A  FHFn(2) A JE +/- +/- +/- +/-
MAR b = & m m m m
2] 313|mM £ FET +/- +/- +/- +/-
ThAT T2k = = m m m m
3| 312fdA Q) P T +/- +/- +/- +/-
Fhye 2ok = & m m m m
4 nrafdl Q) LD +/- +/- +/- +/-
Th A = & m m m m
5|  606[dE £ (1) A JE +/- +/- +/- +/-
THIAT WA = & m m m m
6] 162K HEE ) AT K BE +/- +/= +/= +/-
FhA VoA = & m m m m
7] are|ddt ER(Q) FIE L +/- +/~ +/- +/-
ANRZY = & m m m m
8] 617| Tk K2 DB E +/- +/- +/- +/-
=VhY 4ATF = & m m m m
9] 280]FE)I KB @M3) FET = +/- +/- +/- +/-
YAFY vka = & m m m m
10] 161 HE Q) T K RE +/- +/= +/= +/-
AT AVh = & m m m m
11 1640 &) AT K R +/- +/~ +/- +/-
YEN FAb = & m m m m
12] 289 A 4K (2) FET = +/- +/- +/- +/-
Tht 7 = = m m m m
13| 4662 WL (3) il H e +/- +/= +/- +/-
ENVEEYN = = m m m m
14]  299|#%)E R Q) FET = +/- +/- +/- +/-
Yy ES VA = & m m m m
15|  168|HEIL  FHEE (D) AT K R +/- +/= +/= +/-
Loy EVA = & m m m m
16|  581|MH EEH@O) INJEE +/- +/= +/- +/-
VA VI = & m m m m
17] 1146][ M —HE(2) i +/- +/- +/- +/-
Juqy ok o m m m m
18] 5365|HE FELCQ) PN +/- +/- +/- +/-
RN R = & m m m m
19]  B8IIIAAR  t&(2) INJEE +/- +/- +/= +/-
&z prh = = m m m m
20| 1099|3yL A (3) FEFAIE +/- +/- +/= +/-




—i% B FRa L (7. 260kg)

— IR ek KR) 18m29 I AR NN ) A F0 4 47 (2022) 5H17H 10:30 ¥ Wk
RIE | - | K4 B JCIRE| 2[BlH 3[ElH FRECS JIEAT ap/h
(0F Jypny = &
1| 5363)ARMARES (3) EESEPN il m m m

iR BB PR AL (6. 000kg)

IR R EL Bk (KH) 17m24 il EZACREE) SR LTAE (2005) 5H17H 10:30 ¥ W
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA

Wk I0p = &

1 1277 AE ERQ) =N m m m m
Szl = H

2| 305|#ad: wEEE(1) P T E m m m m
WEL E = HW

3| 17olaAR  FHEQ) T K A R m m m ol
YEN 2y’ = H

4| 1282[maA HER (1) =N m m m m
AP A% = &

5 307 | . 1 Bt (D) AT & m m m m
SR = W

6] 1190[%EH B4 (3) 4 IR I m m m m
Y any = &

7] 1142|\B EEQ) i m m m m
AN () = &

8| 492K B (3) FIR L HEEE m m m m
TSR VILY. = &

9] 503|H HAAERS (2) I 1L HH P m m m m
7VEN Y2 = |

10| 582|fEA  KFE(B) UNETE m m m m
T = &

11| 1279|(FiE JEAE (2) L m m m m
/Y REV] = &

12| 203]#akt 7 (2) P T = m m m m
9T e = &

13]  295|i & 2 (2) FHEAT & m m m m




iR 5B - £ (1. 750kg)

R AL Bk (KH) 51m78 BB HE (A 1L ) AL (2019) 5H17H 12:00 3 B

wIE | o - | K4 B JCIRE| 2[BlH 3[EH Rk JIEfT VA

SO AEVAES = &

L so6[#Ail #EH (D FET m m m ol
Ay /7 ElE

2] 310k RIEQ) FET il m m m
Tk 9% ElE

3| 600fFEAR JEWS (1) B m m m m
“yih 2pey = &

4 301 | 74 i BE ACRE (1) AT & m m m m
Szl = H

5| 305|#ad:  wEEE(1) P T E m m m m
NAVRN Y = |

6] S14| =HEEIRH (1) “EIE 1L pE & m m m m
wzy = &

7] 308fmiE _ fEpk (D FET m m m m
YV vane = m

8| 5081 F FHIE (1) VG L P m m m m
15 798 = &

9] 300[F:H #kKk) P T m m m m
T = &

10| 1279 JEGE(2) =N m m m m
AP A% = &

11 307 (D P T E m m m m
L% = =

12| 292|% i (2) P T E m m m m
7VERN Y2 = |

13| 582|EA  KF®) A JE m m m m
BZET = &

14f 498 FH K @B) VG L P m m m m




—iR B 7N —HE (7. 260ke)

— IR ek KR) 67m71 RS R (PR K284 (2016) 5H17H 13:30 ¥ Wk

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
(0F Jypny = &
1] 5363|& B AES (3) EXEZitPN m m m m
B4 )20, = &
2| 6089[IE PRk = Eeth m m m m

BB~ —FE (6. 000ke)

W e 1R 6% (KH) 66m82 NI O B AF 3 4F (2021) SAITH 13:30 ¥ B

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA

YEN 2y’ = H

1] 1282 fhEk (D) =N m m m m
nyytoagh =

2] 604|FEH Q) A JE m m m m
Wk 08 = &

3| 1277 AE  EK(Q2) =N m m m m
TH%E vavh = &

4] 601|EA RO YNETE m m m m
K2RV = HW

5| 305|#adt: wEEE(1) P T E m m m m
NAVRN Y = |

6] 54| =HEEIARH (1) B 1L pE & m m m m
AP A% = &

7 307 | . 1 Bt (D) AT & m m m m
¥4h7 4PN = &

8| 505[dkAt = (2) VG L P m m m m
A = &

9| 593[HA  HiKk(©@) A JE m m m m
] = &

10]  BS7|KEF L (2) A JE m m m m
Tk 9% = &

11| 600]3&A JA (1) A JE m m m m
N = &

12| 1121)EE % (3) B m m m m
9T e = &

13]  295|i 0 4L (2) AT E m m m m
L% = =

14]  292|% i (2) P T E m m m m
Y NELE: = &

15| 596|/fEH  FEH(2) YNETE m m m m
YR TILY = &

16| 503]H FHIHALE (2) “EIE 1L pE & m m m m
174 e = i

17 588 MR HEik (2) A E m m m m
BZE = i

18]  498|°FH R K(3) I 1L HH P m m m m
7VERN Y2 = |

19] 5820 EA KF®) A JE m m m m
KIEN vt = &

20|  296|dk[f]  FEh (2) JHEA T m m m m
AT 403 = &

21 584 K)I| 175 (3) U m m m m




—fi% « BARE FX° D % (800g)

= HEIRGIE (KR) 78m77 LI NGNS = PN K304 (2018)
IR = R (KH) 67m75 T EKEFEB L) FRR244F (2012) 5H18H 14:00 ¥ W
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
EISRY, = &
1] s21|vEAT  Ek ) FEIa L P = m m m m
YYv vane = &
2] 508fIL T FHIE (1) FIE L HEEE m m m m
hp= 2y = &
3| 1378len Rk = m m m m
A = &
4f  s1ofdm ERQ@ FIR L HEEE m m m m
FYAETR = &
5| 1170[KH  FeifE(3) E R m m m m
(0F J9pny = &
6] 5363 EIHALE (3) EESEPN m m m m
RS = m
7] 5439[ENE A JACEAST IT m m m m
W v adhng Sl
8| 510548 LI KRR T F =T m m m m
N Yy ¥ Sl
9] 277|kabk  FE (3) FET = m il m m
Le At = &
10f B471FIl &K T.G.K m m m m
7N Sl
11] 892/t PIBE (1) PPN m m m m
/Y REV] = &
12| 203]#akt % (2) P T = m m m m
IISIERL Sl
13| 5363 A B 3F (3) S N m m m m
AR agaf =
14| 5440|VEIKE  HET JACEASTII m m m m




—f% « B ZF100m

—HRFHk (KR) 11.50 fM(CRANE) FRR304E (2018)
VR i R ok (KH) 11.66 Al A i (04 H i) 4704 1F (2022) 5ALTH 12:40 J{v-%
BANV=2  GHHL
148 EG/~ ) 2% A/~ )
vy Juv - K4 B WER:  EEE v P - K FiE g ek
1 56363 JIl OFHMA) = m-asmx - 1 487 At WE (2) = &-Fmumes —
2 537 *’%ZK :F‘ﬁ%—(Z) = H - FHRILEREES - 2 1397 /I‘/]‘P&] *qu(l) = EeSEE 77
3 527 =i (X7 (3) = wwwwmas - 3 1199 SHHWA) = W - EEs -
4 5488 KA AT = #E-T.6.K - 4 57 EHD (1) = - psrms -
5 539 TEIE EHE5(2) = w-wmumms - 5 1197 H4F B (1) = &-EEs -
6 5195 ity Fn = ®E-:NAC - 6 5085 2 - = - ULTIVATE -
7542 A BM(Q2) = wewms - 7 1201 [AE CEE() = - —
8 5363 AR EH W = ®m-=mK - 8 1203 KNG HWF(1) = &-HwEE o
9 1181 UMW ZH(3) = ®-dEeE - 9 540 Wk BAZE(2) = @ mmwmsn -
3%E A/~ ) A% A/~ )
Vv tun - R4 i JIEfr ek Vv fun - KA )& JIEAE FLEk
1 1
2 524 QO EAQB) = ®-rmumEs - 2 483 FH k(@) = m:-Emums -
3 544 HY EFEF(2) = & wmummG - 31203 MAEZERL(3) = @ ammes 77
4 1194 HE $ZFQ) = E-EEE - 4 485 V&ML HRPI(2) = wm-mwmes -
5 538 BRI AR (2) - m-wmwmes - 5 607 FHILAER) = memEE -
6 1185 B[ MEFE(2) = - EEeE - 6 1392 @Az EPQ) = &- S -
7 1190 W BEF(2) = & - s - 7 1394 HAR BEE(@Q) = & =EA -
8 1387 &4 (HEREB) = @ SmE o 8 905 IUBRBEAZE(2) = & - kA -
9 533 HHDIB(2) = = rmumEs - 9 545 kAl HERE(2) = m-mumss e
54E EG/~ ) 6fHE A/~ )
vyt - B4 PR MEA  EER v - K4 i NEfT  Fogk
1 1
2 1396 kW THQ) = W omE - 2 1389 B HMEEQ) = W SWE -
31184 A¥F y=x)(2) = - o 38002 VAT EW(1) = om-awes -
4 1390 KEF BEA(3) = m- =@ - 4 541 BFIEF MESE(2) = m-emumss -
5 482 HEH 1&H () LR S L - 5 534 [UAK EE(2) = w-rmunss -
6 620 TKH WR(Q2) = moammik - 6 1391 WFR BRJY(3) = E-=EE -
7 484 /5K L (2) - I - 7 488 /KK g (2) = m-smumm -
8 553 Wi7h () = ® e reumEs e 8 1395 WP HgE(2) = - =& -
9 54 JEIE L3 (2) - (I 9 1388 FuLili EEL(3) = @ =@ .



—f « FEZF-400m

= HBRFOEK (KR) 54.17 Ml BEG VY SERE 94E (1997)
W e 1R 6% (KH) 55. 37 W BeZs (Fia 1L H i) R 224F (2010) S5HITH 14:00 §{hv—2
BAhv-2 3%
1# 24
v=y o - K4 ] JEfr  FEER vy dvn - K4 BilE] NERE  Fosk
2 869 HA T (2) = E- sk 7 9
31394 A EREQ) = W SmE o 3906 fh (1) = & -
4 1392 @ik FEPE) = w-=@EH - 4 538 P EEIR(2) - mermumes
5 5363 JIl OFEH@) = m-asmk - 5 537 A THE(2) = m-rmumEms S
6 5363 B M3 = m-emmk - 6 1194 BT ZF(Q) = - mEs —
7 1380 A HAEEQ) = E-=EA - 7 1387 & HE@Q) = E-=EE
8 1181 LM Z3E(3) = - - 8 1198 it FiZE(1) = - s -
3HE
A 2 4 P JEfr ek
2
3 550 @ EFL(1) = & mmumms -
4 1396 LW Fa() = @ =\ -
5 1186 7 4% =ty #°3(2) = - W e
6 553 HAR HMiH() = w-wwumms -
7 8001 T #EA(2) = ®-aumwis -
8 1398 BA fKAE(1) & m- S e
—L I I.
—f% + B F-1500m
= HBRFCEK (KR) 4:21.13 BA G Y—) % 154E (2003)
VP e R % (KD 4:22.05 A RZE(SH ) £ F0 4 4F (2022) 5H17TH 10:10 J{AV=%
BABV—2
gk
ORD_Jvn' - 4 e JERT ik
1 8001 'F #hak(2) o - A g 7
2 1122 /b0 HZ (1) = E-BAE -
31192 f@iE EAEQ) = & e
4 536 A F(2) = memmumms -
5 1200 KEF JEFH (1) = @ - -
6 1182 FHH CRILEG) = @i o
71196 RAR FEE(1) = - S -
8 1202 L DAE(D) = - vk

—f% « EI A F-3000m

= HEIRFOE (KR) 9:04. 56 BRI >y —) TRk 214E (2009)
B S R gk (KH) 9:17. 54 Hp BEanG &) A 134E (2001) 5H17H 14:35 #4hv—2
BALBV=A
g ik
ORD Fvn' = K4 e JIEAE RS
1 486 P THEE (2) = ®-$hum -
2 316 Mp FHEAOA) - om-omre -
3 1179 AHUKFTRZEL(3) = & - e



—% « BB F100mH (0. 838m/8. 50m)

= HEIRGIE (KR) 13. 40 FERE BB (R R) 4Fn 3 4F(2021)
IR = R (KH) 13.78 A @S ) 45 Fi1 5 4F (2023) 5H17H 09:55 §{hV—%
RAAV—A
g ik B/~ )
V=y N - R4 Gic] JEAE ROk

1 608 MEEM (1) = m-AEE —

2 1398 My I&fE() = &= =EA

3 1186 74 =Av A2 = - R -

4 483 FH 2k (Q) = m-smums e

5 552 [JJD gﬂ%(l) T - T I -

6 542 B EP(Q) = @-wwmumns e

71202 JbRE EHL(O) T A - )

8 482 TEM M&KHA (3) = m-wmumE -

9 1201 fH FEHEQ) = &-HEEs

— % - ER A F400mH (0. 762m/35. 00m)

= H IR (KR) 58.173 2 (DY R ) A FI5EAE (2019)
U it ek (KH) 58. 73 ()Y H i) A RIIEAE (2019) 5H1TH 12:55 J4AV—X
BARV=2
148
vy Fun - R Gic] JEAE ALEK

1 533 HHHBW(2) = m-wmumss —

2 1390 KEF BA(3) = & =& -

3 5879 WA HEAE(2) = ®- =@k -

4 535 = Z£(2) = ®m-mmRuEEsG -

5 528 [UA  ZHI(R) = @-rmwms -

6 5363 Mot WEH(3) = m-esmk e

7 5363 /MR BAR(3) = om-maEk -

8 524 EH EA(3) = &-mwums -

9 1392 mifZ FEPQB) = E-=EG N



— © ER 2 F4X100mR

= RGO (KR) 46. 02 FIRILHEMBES ORT - 48N - /B8 - ) SEk214E (2009)
IR = R (KH) 46. 02 FIEILHEME KT - N - (E% - i) R 214F (2009) 5A17H 15:30 #{h—x
BABV=%
14E
bl-v M EB 6lV—y —HE TVv=y FIRILHEREG S
==t - K4 =4 - fun - K4 T4 - fun - R4
() 1199 SHHW (1) () 1387 &1 1HEEQ) () 527 —Hw 1X72(3)
() 1201 [MH EHQ) () 1397 "N Fafk (D) () 525 dLE LBE(3)
() 1197 *FF = (1) () 1394 HA =(2) () 532 FEEE FnZE(3)
() 1203 Kug EH¥F (1) () 1396 Em  F=(1) () 542 AH EPNQ
C ) « ) () 539 HEIE Hes(©2)
() () () 548 H HBEQ
8V— HEPEARA
A PN Y 2
() 1181 Wl #FRE)
() 1185 BH MEE(2)
() 1194 #HF ©¥Z=(©)
() 1188 HMEH 3£ (2)
() 1190 HF BFn(2)
« )
JERE F-b4 FLE% JERE F-b4 FLE%

1 4

2
3




—i - AT AE Rk

= H IRELE (KR) 1m90 HE TEGEY YY) R 9% (1997) ‘ -
IR A gk (KH) 1m79 R W K& R 184F (2006) 5H17H 09:30 ¥ Wk

g | - (R4 G " " " n " n " "o e | mEnz | 2k
JERVEN = &
1| 1395|Bp B3 (2) —HE
FH7F I0h = ®H
2| 1204|Bx 0 #EdE (1) LD
{9) § =x) = &
3| 118458 4 =1) (2) B
vk 7Yt = =
4| 534fllik  ZHEE(2) FEIa L P =
NI = &
5| 11950 FERL(1) AP
ey 45 = &
6] 1205[ILH MR (2) 4 BRI
vAE It = &
7] 1188[HEH #E¥(2) HpE
an' vy v = &
8| 5363/ Ak EHL(3) BEAER
7Y 05 3Fb = &
9] 1183]akJR % (2) HpE
¥f avF = &
10| 546]dbFE  EART (2) FEIa L P =
7 2 =
11| 4911 KW FEHEQ FIE L
TN Y PR = &
12| B3| MIEX E@B) FEIa L P =
EYUEEY = &
13| 526]/hih  fERE (3) FEIa L P =
—_r | . — |
— - BRI TRk
= HIRGIEL (KR) 3m91 AR BRZR (A ARRER) K304 (2018)
IR A Ak (KH) 3m62 Wi R e (5 2L AR) N 5 4F (2023) 5H18H 09:30 3 B
g | - (R4 G " n " n " n " "o e | mEnz | 2k
ThE) <) = &
1] 13914 B (3) —HE
ISEED) = &
2| 1180117 ZEEFL(3) AP
Fh ed) = &
3| 1190|MHE  BFn(2) LD
FhAT A = &
4] 11989 4s  HZE (D) LD
ke % = &
5|  543|kE KA (2) iR L P =
B TER = &
6] S44|HH 3 (2) FYE L P
FHE abk = &
7] 5364|#Ex AETH(2) —HR
v b = &
8| 5363[HI EAB) ECSPN




—i% - AT ARk

= IRFEEE (KR) 6m54 HAHAET(i DER) %214 (2009)
R = R R gk (KH) 5m95 e Rk (Fe44 1) A 104 (1998)
R AL Bk (KH) 5m95 g kG 4) % 184F (2006) 5H17H 12:30 3 B
A pit
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
A%A TAh = m m m m
1] 1199|145 HEH V(D) LD +/- +/= +/- +/-
YeEh ETTh = & m m m m
2] 530[luAR  #FE (3) FEIa L P = +/- +/- +/- +/-
Nyt v = H m m m m
3| 485|&HL  HRPI (2) FIE L +/- +/- +/- +/-
7 vt = & m m m m
4] 487 AU WLE (2) FIE L +/- +/- +/- +/-
an' gy A7 = & m m m m
5| 55L/RR AKFE (1) FEIa L P = +/- +/- +/= +/-
YT vt = & m m m m
6] 607 FHILAA () B +/- +/= +/- +/-
T4 b B m m m m
7] s3]t @E@Q) I 1L P +/- +/- +/- +/-
B pit
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
JARVEN = & m m m m
1| 1395|Bp B3 (2) —HE +/- +/= +/- +/-
an’ vy 4y = & m m m m
2| 488[/hBK b4k (2) il H e +/- +/- +/= +/-
ARV = H m m m m
3| 1203 K08 E ¥ (1) D +/- +/= +/- +/-
b V% = & m m m m
al  Ba3lEE  edi (@) |FHAILHEEE - - /- -
T ath = m m m m
5| 1185\ METE(2) LD +/- +/= +/- +/-
)y ant = = m m m m
6 549\ H AR (D) FIE L HEEE +/- +/- +/- +/-




—fR - R TR HLE (4. 000kg)

— HIRFLE (KR) 16m34 ik % (EERK) SRR 134 (2001)
YR i A i ok (KCH) 15m53 i HEE TRk 94 (1997) 5HITH 10:30 kB
wIE | o - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
vy a3 El
Ll 490|F9  EEE(D FIf L m m m m
Wy IE = =
2| 1388[Lili  HEL(3) —HE m m m m

—i% - BT PR (1. 000kg)

= HBRFOHK (KR) 52m21 BOAER T (I F T R) R 144 (2002)
IR A Rk (KH) 46m94 il FFIE . pE) SR 84 (1996) 5H1TH 12:00 3% B
RIE | o - | KR4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
BN AV = &
1 60971l HiiEE (1) U m m m m
<’y aan = HW
2| 489fmi)llZ = A1) il H e m m m m
A9Eh NV = &
3 907lEA PR BB m m m m
YeEb )y = =
4] 908f iR A (1) R m m m m
vy a7 = &
5 490| Hi% 2R (1) FIR L E m m m m
yyRE Gy Sl
6] 5365 M B (1) KELK m m m m




—i - BRI TN~ —BE (4. 000kg)

= RGO (KR) 59m68 VAR U I R) SIEAE (2019)
IR = R (KH) 54m65 JEREH MESE (RABRDH) AFN 5 4F (2023) 5H17H 13:30 3 B

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
BN AV = &
1 6097 )1l HiiEE (1) U m m m m
Le AV ECH = &
2 621|Hi)11 fE32 (2) B R E m m m m
YeEh 2%k = &
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